Bitspower o gtk

[ FE O R @ H L IDRGRIAEE ) @ BPTAVG20606X LA
Sgital RGB PIN or/w\o:jotherboard orEGOther equipment. @ P ) @ ﬂ%—f%A 2%
B QR @ H iR &AIDRGBIEHE - (3 10 =xEsmaA 2R
o ) @ 15 =kEmump 1k

> o (B 2.5 mxEzmamA 1R
= (6 BEEHB 2%
@ () M2.5x6 EKiB# 11%
/ >
ﬂfﬁerboard ngg%ﬂf éfrw?tfg Controller(Not included) ﬁ C ACCGSSOI’i es

\ ES DRGB#:fl 28 (R E21%)

@ BPTA-VG2060GX 1 SET

o @ @ Booster screw A 2 PCS
6 @ 1.0 mm Thermal pad 2 PCS
@ 1.5 mm Thermal pad 1 PCS

7 @ 2.5 mm Thermal pad 1 PCS

@ Booster screw B 2PCS

® M2.5 x 6 mm screw 11 PCS

[Hes

)
s g (1) BPTA-VG2060GX 14
4 (2 zEBzA 2%
Compatibility : @ 1omKSMEBA 2R
@ 15=kSAmA 1A
Colorful GeForce RTX 2060 Gaming GT V2 B 25=KSMEEA 1R
Colorful GeForce GTX 1660 Ti Gaming GT 6G @® =mBus 2%
iGame GeForce GTX 1660 Ti Advanced OC 6G (@) M2.5x6 =:kigs 11%

iGame GeForce GTX 1660 Ti Ultra 6G

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRABELURBENES - MEEOASTEN - EREACARGURYRE -
& KRTREN MR BRI RBRNNT - MBENOABITEN - RIS SEGFUIIRE -



Bitspower®

] °c o o[ = o

O

© O
000000
|

.o

L
s0O00000
o O
5
O O
I
0
O
[

d

:

B"JIEEEE?:FH ﬁf.% Applying the thermal pad and thermal paste on correct positions.

|:| EEERENE 2] Using appropriate amount of thermal paste.
1 mm%%&i"w}:ﬂ 1 mm Thermal pad
P

] 1.5 mmEz [] 1.5mm Thermal pad
[ 2.5 mmEz *‘H [] 2.5 mm Thermal pad

Before filling in the water, please make sure all the components are installed correctly.

To prevent any leakage which may damage the PC components, please perform a = - .
iyt e s oy : - /N y leakag y damag p , please p e - , ¢ el
L1124/J\FHE’JE@7J< AE - RRERKEREEMER - B RRERKTEREESHIRER 24-hour leaking test with only the pump connected to the power supply . #HT24/NREANIE - BRETREXEREBAEN - BRRERKNSREHBHORT

ER - BKAT - AERRASHCREEERNMUEL - £RMEIH - HKRNERT - - KA - BEWIAFASHEZREEBNUEL - £FFEN - BFKRNBERT




Bitspower’

N\

-
FEO R @ E L EAIDRGBIE -
Digital RGB PIN on @ motherboard or @other equipment. @

15120 RSN @ E {2 FAIDRGBIEE - -
(1) [20 =» BPTA-DRGBMFC @
®
3 > ®
| e =
S5 o . //"

,1;\. 1> 4
EhR DRGB#:fl 28 (A E21%)
motherboard DRGB Multi Function Controller(Not included)
Ju s 92 (7 4]
\ iR DRGB#:fl 28 (R E21%) y GQ
Ca\
A%
S @g=
D c

Compatibility

GALAX GeForce RTX 2060K1#%

NN

o

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRABELURBENES - MEEOASTEN - EREACARGURYRE -
& KRTREN MR BRI RBRNNT - MBENOABITEN - RIS SEGFUIIRE -

@OE@OE @O®©OE

@OE@OE

Ao

BPTA-VG2060GX
BEEHA

1.0 ERERBR
BEIR44B

M2.5 x 6 Z KR4k

Accessories

BPTA-VG2060GX
Booster screw A

1.0 mm Thermal pad
Booster screw B
M2.5 x 6 ZKIE#%

[Hes

BPTA-VG2060GX
BERLZA
LOZEXKRSERER
BEIRL4B

M2.5 x 6 ZKig4L

14
2%
3R
2%
17%

1SET
2 PCS
3 PCS
2 PCS
17 PCS

14
2%
3R
2%
17 {&



Bitspower®

ER - BKAT - AERZASHCREEERNMUEL - £RMEIH - HRKRNERT -
ET4/EARKAIE - BRERRKEREERIN  BERERKMENBESHISR -

Applying the thermal pad and thermal paste on correct positions.

EZ] Using appropriate amount of thermal paste.

[ 1 mm Thermal pad

Before filling in the water, please make sure all the components are installed correctly.
To prevent any leakage which may damage the PC components, please perform a

/\

ER - BKAD - ERBIAMASHCRREEBNUEL - EAFEN - BFKRIERT -
HT24/NNEERKIE - BRERKIEREETEN - BERERKTNSRBMBHAIRA

24-hour leaking test with only the pump connected to the power supply .



Bitspower o ik

r " N (1) BPTA-VG2060GX 14
1% 0 T B @ E 118 5 HIDRGBIEE - -
Digital RGB PIN on @ motherboard or @other equipment. @ = > @ BRBIRHA 1%
5O @ H iR &AIDRGBIEHE - . ® (3 10 sxEzmnA 2R
0 ) @ 15 mRERBA 1k
N, 4@ G 25 srEmBA 1K
= © mEEHB 2%
’Q (@) M2.5x 6 KR 10 %
ES DRGBEEHIZE (A E14F) V ) T~~~ @ .
. gc;)tiherboard ggggg%lt;giu%g%w Controller(Not included) ACCGSSOI’IES
O A @ (1) BPTA-VG2060GX 1 SET
6 I @ Booster screw A 1 PCS
3 %z. @ 1.0 mm Thermal pad 2 PCS
;\0‘ @ 1.5 mm Thermal pad 1PCS
/K
Q’ @ 2.5 mm Thermal pad 1 PCS
¢ 4\.. @ Booster screw B 2 PCS
\\ (@) M2.5x6 mm screw 10 PCS
- \CEF
Q [ias
4
bl (1) BPTA-VG2060GX 14
g -
g @ @E:!t?;e_zA 1%
Compatibility @ LomkSmEA 2k
@ 15=kSARmA 1A
iGame GeForce RTX 2060 Ultra B 25ZkSHRA 1K
(6 #EEuB 2%
(7) M2.5x6 E:kigy 10 %

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRABELURBENES - MEEOASTEN - EREACARGURYRE -
& KRTREN MR BRI RBRNNT - MBENOABITEN - RIS SEGFUIIRE -



Bitspower®

[
O O
O00O00O0O

ERBRERENEEERAUE
EE mesRpens
B 1 mmEsas
] 15 mmEaakg
[ 25 mmissse

A - BKAD - FASTERFASH R REERMNIEE - £RMER - BRKRIE

ET24/) RN - BRRRKELEERER  BeRERKMENBHBEHLE

&

[]
O]
i
[

e}
e}
e}

O

O
[©]

oOOOOOOé)DO

o DLUW o

Applying the thermal pad and thermal paste on correct positions.

EZ] Using appropriate amount of thermal paste.
[ 1 mm Thermal pad

[] 1.5 mm Thermal pad

[] 2.5 mm Thermal pad

Before filling in the water, please make sure all the components are installed correctly.
To prevent any leakage which may damage the PC components, please perform a

SHRBRMSHENIERNEBAE
[ E=xmss
B 1 =rsns
[ 15 ®kSmmA
[] 25 ®kSmnA

A AR - BKA - IBARIAMASHERREEBNME L - ERFEN - BFKROBERT -
HT24/ NI ERKINE - BRTREKEREEFEN - BERERKNS KBNS HIRT -

24-hour leaking test with only the pump connected to the power supply .



Bitspower®

EE : BitspowerZZ HEE ERAZEK - AFK - MABitspowerfIREER KL RER ; MEFBITEBNKLIRENERERE - KEEE KRB
ZSSﬁ*Eﬁ‘Kﬁ%ﬁ%ﬁ%ﬂEﬁﬂﬁﬁﬁ%%&ﬁ?*ﬂﬁﬁZﬁﬁﬁ'%E%Eﬁﬂ%ﬁﬁ%ﬁﬁ&°
AREKE - FOAMEBKRER -

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation
leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.

Do not turn on the pump if the reservoir is empty.
% : Bitspower BUUGHRERERAEK - AiEK - MABitspowerfIRFEAKSRER ; MEFBITEMWNKIRSHBRERHE - KEEE - KRE
ZSSﬂ*Eﬁ~Kﬁ%ﬁ%ﬁ%ﬁEQ@M&E%%&EE*EHHZE@N-ﬁﬁ%ﬁﬁﬂﬁﬁ%?ﬁﬁ&°

AEKE - BIBHKRER -

AR MKA - BEERMASUHCEREEENUEL - EAREH - BRKRNBERT - ET240SHNIKIE - BRERKENEEHIN  BRRERKMENEMIMNIEER -

Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR BKAT - BEWATASHCZREERINUE L - EAFEN - SFKROBERT - #7240 NHKIE - BRERKEREEHEIN - B RKERKNSREMBEIRL -

AREREBHERVRAELURBENES - ARV AB TR - ERBEARGUBYRE - VZ/% —_ Hﬁ
Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product. -
KATRENFRIRITEURERENNS) - MBEEHBASITEN - FRAeSkAUTIE -



